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No. Kk, s, ra— © (m) A | Bk ki g | BUE [l ss i B> v & =
(C) (m) (cm) (S/m) | (mg/L) () Cs-134 Cs-137
| - [ e 5A11A i 14.7 0.7 12.5 0.0 %bux%&@ﬁ%é%wtﬁ [ >100 143 1 0.8 <0.84 <0.85
119A 2 12.0 0.4 11.1 0.0 W % W R 72 0 H ik b5 >100 359 <1 0.3 <0.53 <0. 54
ol - e 1 5/ 12A i 15.6 0.4 12.9 0.0 Efléu%&@ﬁ% b5 >100 328 2 1.0| <0.74 <0. 80
11A10A i 13.6 0.3 12.0 0.0 W 2 W R 72 0 H ik b5 >100[ 1,360 1 0.5 <0.44 <€0.79
54100 i 23.4 0.3 18.3 0.0[ M1 5 WK A DA Z 08| R 67 13.4 5 4.6| <0.81 <0.67
sl R 8101 i 21.1 0.4 20. 2 0.0 JRHDEE ‘ b5 >100 14.9 3 1.0] <0.81 <€0. 74
11A6A i 16.0 0.4 12.1 0.0 W 2 W R 72 0 Sk b5 >100 12.0 <1 0.6 <0.66 <0.47
bl 2A6H i -2.0 0.3 3.8 0.0 W2 WK D 8 b5 >100 14. 1 3 1.2| <0.78 <€0.92
o e i 5130 i 14. 4 0.4 12. 4 0.0[ M1 5 WK A DA Z 08| >100 9.4 <1 1.2| <0.76 <0.85
1LALLA i 8.6 0.3 8.4 0.0[ M1 5 WK A DA Z O 8| >100 9.5 <1 0.2] <0.69 <€0.75
. | S - 5A5H i 26. 4 0.6 16.5 0.0[ JRAH Dk & H O b5 49 9.1 7 8.5 <0.78 <0.87
' 11A1A fiff 19.0 0.6 14.7 0.0 5 VKA DHE Bii3 >100 11.9 1 0.9[ <0.53 <0.61
] 5A5H i 26.3 0.7 9.3 0.0 JR D ik b3 >100 6.3 3 2.7| <0.66 <0.85
6 SR 8A5H i 28.8 0.5 16. 8 0.0 W2 WK D8 b5 >100 7.6 2 1.6] <0.81 <0.88
1ALA ® 14.4 0.5 12.0 0.0 JR B D Bk fi3 46 8.8 6 8.5 <0.85 0. 66
o BRI 2A9A %5 -2.3 - - - - - - - - - - - BEO#H, RRTET
B 5A5H i 27.4 0.6 12.9 0.0 W2 WK D 8 b5 >100 6.8 3 3.3 <0.66 <€0. 74
7 S 8A5H i 34.4 0.4 24.0 0.0[ M1 5 WK A DA Z 08| >100 11.6 2 1.4] <0.82 <0. 80
1ALA I 18.4 0.3 14.6 0.0 JR B D Bk pi3 84 10.5 3 3.3 <0.61 €0. 74
] S 2A9H i -1.0 0.4 2.6 0.0[ M1 5 WK A DA Z O 8| >100 12.7 2 1.4] <0.86 <€0.92
5A8H i 24. 4 0.4 12. 4 0.0[ JRA D& H O b5 34 9.2 12 13| <0.74 <€0.90
s R P 8A5H i 35.6 0.4 29.0 0.0 W12 WK D8 b5 >100 16.9 4 2.0[ <0.87 <0. 80
11A2A i 17.3 0.3 13.7 0.0 W2 WK D8 b5 >100 14.8 3 2.1| <0.53 <€0.70
il 2H9H i -1.8 0.4 4.6 0.0 JRHDEE b5 >100 25.8 2 1.9] <0.77 <€0.70
ol 5A8H i 23.8 0.4 16.5 0.0| RAOFHEHOLHE i 10 9.1 48 70| <0.87 <0. 67
0 A - 8/5H i 34.5 0.5 25.8 0.0 JR 3D ik b3 67 9.5 12 4.4] <0.53 <0. 66
’ ’ 11A2A i 15.0 0.3 12.8 0.0 W % WK B D3 e >100 15.4 1 1.3| <0.65 €0. 48
it 2A11H it 3.0 0.4 3.9 0.0 W % W R 72 0 Sk b5 >100 21.8 1 1.2| <0.60 <€0. 74
] fu 5A8H i 21.2 0.8 12.2 0.0 JRHDEE b5 86 8.2 5 5.1 <0.77 <0.80
vl % e e 8761 i 36.8 0.4 29. 4 0.0 B 2 W R 0 8% 1 >100 12.2 4 1.7] <0.81 <0.67
% 11H2A i 14.2 0.3 11.3 0.0[ 15 WIRADkkIH 2O 38| I >100 10.2 <1 0.5| <0.61 <0. 61
] s 2A11H 2 0.3 0.3 1.8 0.0 W2 WK D8 b5 >100 12.3 <1 0.6 <0.74 <0.55
& 5A8H i 18.3 0.4 11.0 0.0[ M1 5 WK A DA Z O | 61 13.3 7 4.6| <0.82 <0.67
u o P 8A6H i 36. 0 0.3 28.0 0.0 %bux%&@ﬁ%é%wtﬁ b5 >100 21.6 10 3.7| <0.68 <0.55
11A2A i 9.3 0.3 10.2 0.0 W 2 W R 72 0 Sk b5 >100 18.9 2 1.4] <0.58 <€0.61
2A11A i -0.2 0.3 0.6 0.0[ M1 5 WK A DA Z 08| R >100 24.1 2 1.2| <0.70 <0.86
] 5ATH i 17.3 0.5 12.7 0.0 JR D ik b3 32 9.6 18 9.3 <0.71 <0. 80
12 s | Fok 841 i 32.8 0.4 30. 0 0.0 JR D ik b3 >100 17.3 3 1.6| <0.86 <0.85
11/4A i 7.0 0.3 9.9 0.0 T2 WK 20 8 1 >100 16.3 1 1.1] <0.61 <0.55
2A2H i 3.6 0.5 4.4 0.0 JR D ik b3 >100 14.9 2 1.2| <0.63 <€0. 74
] 5/6H 2 19.4 0.4 123 0.0| B VRBORHEH O | >100] 121 7 3.9 <0.57 <0.74
; 8A6H i 28.9 0.3 26. 7 0.0 W2 WK D8 b5 >100 19.7 1 1.2| <0.65 <€0.70
13 BHANTH  (AH —Ha 11740 i 11.8 0.3 10. 6 0.0[ 15 WIRADk;IH 2O 38| & >100 17.2 1 1.4 <0.77 <0. 66
2A2H i 4.9 0.3 4.8 0.0[ M1 5 WK A DA Z 08| >100 12.9 3 1.7] <0.71 <0.86
] 5/6H 2 17.6 0.6 12.4 0.0|  KAORI A BT K e 53 8.9 11 8.3 <0.77 <0.74
u R R G ) 8A6H i 31.0 0.4 27.5 0.0 Eﬁbu\ma@ﬁ&é/%wtﬁ b5 >100 15.8 3 1.3] <0.71 <0.48
11/4A i 12.2 0.6 12. 4 0.0[ JRA Dk & H O b5 >100 13.9 2 2.2| <0.82 <€0. 74
2A2H i 6.2 0.4 4.7 0.0[ 15 WIRADRGHEH O] | >100 13.5 6 2.7| <0.82 <0.80
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R _ K _
. - S| AokiE ‘ _ — % H W%‘rmgvﬁg (Ba/L)
o, K s . ( (m) kiR | Bk ki s HE [aamag]  ss L B v L %
(C) (m) (cm) (nS/m) | (mg/L) (%) Cs-134 Cs-137

54100 i 23. 1 0.3 15.9 0.0 W2 WK D 3 [ >100 16.7 2 2.6 <0.76 <€0.59
5 o P 8ATH i 32.2 0.4 24. 4 0.0 #EAEHOEAROA biig >100 18.8 1 0.9 <0.85 €0.74
11/8A 2 9.0 0.3 10.8 0.0 W2 WK D b5 >100 16.2 <1 0.5 <0.82 <0. 66
] 2/ 10A i 2.5 0.3 3.8 0.0[ M1 5 WK A DA Z O 8| R >100 17.5 2 0.9 <0.74 <0. 80
510 i 15.9 0.4 11.5 0.0 #EAEHOEAROA piig >100 19.6 <1 0.6 <0.67 €0.74
16 e P 8ATH i 27.3 0.5 17.7 0.0 W 2 W R 72 0 Sk piig >100 28.7 <1 0.4 <o0.77 <0.67
11/8A 2 9.2 0.4 10. 1 0.0 W 2 W R 72 0 Sk piig >100 28.6 <1 0.3 <0.60 <€0.70
] 2/ 10A i -0.4 0.5 3.1 0.0 W 2 W R 72 0 Sk piig >100 31.5 <1 0.4 <0.84 <€0.61
54100 i 19.2 0.6 12.0 0.0[ M1 5 WK A DA Z 08| >100 14.2 6 3.6 <0.76 <€0. 74
" T 8ATH i 30. 2 0.4 22.0 0.0 #EAEFHOEAROA biig >100 16.7 <1 0.4 <0.51 <0. 88
11/8A 2 9.0 0.6 10.8 0.0 W2 WK D5 b5 >100 17.4 <1 0.3 <0.57 €0.75
] B 2/ 10A i 0.7 0.6 6.6 0.0[ M1 5 WK A DA Z O 8| >100 22.9 1 0.6 <0.73 <0.86
5A6H i 22. 1 0.5 15.6 0.0 W 2 W R 72 0 Sk piig >100 15.8 4 1.4] <0.76 <0. 80
8 — 8A8H i 31.5 0.5 23.7 0.0[ M1 5 WK A DA Z 08| R >100 19.6 2 0.8 <0.54 <0.88
Els 11A3A it 10.7 0.5 11.2 0.0| W1 B VIR A DfkA 2O 8| IE >100 16.9 2 0.7| <0.79 <0.55
| fu . 2A8H 2 0.6 0.4 3.6 0.0[ M1 5 WK A DA Z O K >100 20.7 2 0.7| <0.75 <€0.93
I * 510 i 22.4 0.3 18.2 0.0 JRHDEE b5 44 16.5 10 8.2| <0.76 <0. 84
vol ® | ki | mis 8ATH i 35.5 0.5 25. 4 0.0 W % UK 2D 8 i3 >100 17.7 2 1.4] <0.81 <€0. 74
11/8A 2 9.0 0.3 10.3 0.0 W % W R 72 0 H ok biig >100 15.4 <1 1.1] <0.69 <€0.79
] 2A6H i -2.2 0.3 3.4 0.0 W2 WK D5 b5 >100 16.7 3 1.8] <0.79 <0.61
5460 ® 21.8 0.5 13.0 0.0 JR B D Bk pi3 58 9.2 10 7.1| <0.67 <0. 80
20 R i B 8A8H i 34.5 0.5 29. 4 0.0 W12 WK D8 b5 >100 16. 1 2 0.9 <0.88 <0. 80
11/3A 2 11.4 0.3 12.1 0.0 1% WK A D 1 >100 14.0 2 1.5| <0.68 <0. 88
] 2A3H i 2.5 0.3 4.3 0.0 W2 WK D8 b5 >100 13.0 5 2.3[ <0.60 <0.55
5130 i 19.3 0.5 15. 1 0.0[ M1 5 WK A DA Z O K 73 22.1 6 5.2 <0.57 <0. 80
o p— [ 8A8H i 33.7 0.4 24.8 0.0 W2 WK D8 b3 90 23.5 3 2.0| <€0.72 <€0. 74
11A3A = 16.0 0.4 12.1 0.0 #kAH O A e >100 18.1 <1 0.7[ <0.68 <0.61
] 2A3H i 6.9 0.4 4.8 0.0 W % W R 72 0 Sk piig >100 27.1 3 1.9] <0.66 <0.55
5130 i 23.4 0.3 19.2 0.0[ JRA Dk & H O b5 19 18.2 25 26| <0.85 <€0. 90
9 v " 8/8H i 36.3 0.2 33.2 0.0 JRHDEE b5 22 20.5 8 4.2| <0.67 <€0. 90
11A6H i 16.2 0.3 1.5 0.0 W % WK B D3 e 85 15.5 4 2.9| <0.57 €0.75
2A3H i 9.8 0.3 5.2 0.0 W2 VIR B D8 b5 >100 13. 1 5 3.4 <0.74 <0. 66
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B _ EE _ .
e P iR | ek —fRIEE JSHER R EE [Ba/ke (#2E) ]
No Kk Ktk o ) (m) TRl | RIER " HLEERLAR (%) HIRE | e ]
i - (C) (cm) sy | ey | mesy [mmsy | by | sy o bl kit | ) | @) Cs-134 (Cs-137 S
f . 5A11H [ 14.7] 0.7 123 3 0.0 sn7 s 139l 266 3.9 2.3 1.2] 7es] eent| W@ | 7 9.3 * 2.0 9.3
g1 Fe e BFI K 2
I ki it 11/9H 2 12. 0| 0.4 13.0] 3 0.0 17.2] 165 242 0.7 Lol 78.8|  2.695 W | <43 5.8 + 1.7 5.9
™ 50120 [ 15. 6} 0.4  13.2 3 0.0 8.4 129 175 3.4 2.3 79.7] 2715 - @ | <0.43 L9 = 0.16] 19|
2|5 A G =
i it R T 1LH10H | W 13. 6] 0.3 122 3 0.0 217 146l 184 L1 Lo sao0f 2747 W | 3.8 3.5 + 1.0} 3.5
5/10H [ 23.4 0.3 185 5 0.0 238 or1 L5 Lo| 66| 2762 W[ <6 31+ 3.2 31
sl - 8H10H il 211 0.4 212 3 0.0 6.9  13.4] 0.8 L6l 72| o.7ee| W | <46 28 = 3.1 28
R - 1LA6H [ 16. 0| 0.4 12.0] 3 0.0 17.6] 216 0.6 L7 14| 2.tes| wegE | 36 31+ 3.2 34
" 2561 i 2.0 0.3 2.5 3 2.9 154 13.0 0.0 2.0 753 2.725] W@ [ a7 29 = 3.0 29
i B 5/ 13H [ 14.4] 0.4 121 3 0.0 184 1L8 18| 3.4 76.2] 2786 W@ | .0 50 + 1.0 50
TWHILH | 8.6 0.3 8.8 3 0.0 132 348 0.0 5| 789  2.739 W | <54 25 + 3.0) 25
. 5J15H [ 26.4 0.6 17.2 3 0.0 215 486 0.5 Lo| szl 2.705) E-m | <7 15 * 2.3 15
5 I 15 FE AR Eoa ol
w . - 1ALH i 19. 0| 0.6  13.7 3 0.0 204 137 0.6 13| 719.0]  2.769| W | <52 9.1 + 2.1 9.1
5J15H [ 26.3 0.7 9.4 3 0.0 6.9 21.7 2.1 3.3 768 2613 W@ | a2 1.8 * L2 1.8
o - 8H5H i 28.8] 0.5 17.7 3 0.0/ 150 152 0.0 L4l 70| 2.maz| W | <34 3.4 = 0.94 3.4
LA S 14.4 0.5 12.5 3 0.0 1l 164 0.5 L8| sLs| 2ol| wWepE | @7 5.2 + 1.4 5.2
I 2H9H ki -2.3] - - - - - - - - - - - - - - “|fEEO%, FRTES
- 5H5H [ 27.4 0.6 12.3 3 0.0 139 208 2142 0.7 Lol e8| 2736 w-pE | <27 9.6 * 1.4 9.6
: B 8H5H i 34.4 0.4 245 3 0.0/ 195 349 240 0.5 L8| 779 2679 W | <36 6.4 + 1.3 6.4
= LALH [ 18.4] 0.3 145 3 0.0 208 107 152 18| 2.2 781 2677 W@ | <51 8.8 + 19| 8.8
S 2591 i -1.0 0.4 2.4 3 0.0 8.8 6.2 251 0.8 3.3 76.7 2703 @bomE | <44 4.4 * 1.4] 4.4
5/8H [ 24.4 0.4 13.4 3 0.0 234 19| 187 0.6 L7 msr| 2oesi| w-pE [ <9 6.7 * L7 6.7
o B [ 8H5H i 35.6 0.4 28.8] 3 0.0 211 19.6] 239 0.0 L7 833 2600 W | <24 4.6+ 1.0) 4.6
1LA2H [ 17.3 0.3 13.8] 3 0.0 179 108 114 2.7 2.1 75.3 2688 W@ | <51 23 + 2.8 23]
i 2591 i -1.8 0.4 4.4 3 0.0/ 20,0 225 233 0.6 17| 0.4 2693 W@ [ <3 7.3+ 18] 7.3
N 5/8H [ 23.8] 0.4 16.3 3 0.0 0.7 229 17.0 0.8 15| 754 2679 W [ <9 21 * 3.0 27
o HR - 8H5H i 34.5 0.5  25.8] 3 0.0 0.6 3.2 8.9 5.0 4.2 1is| 2.e28| W@ [ <2 48 = 2.9 48
w w 1LA2H [ 15. 0} 0.3 12.5 3 0.0) 15.4 10.3 19.0 0.9 2.2 7L.0[  2.673| - .8 35 + 3.7 35
I 2H11H i 3.0) 0.4 3.6 3 0.0 1.2 2.7 4.7 4.6 4.2 1nal 2oea8| Wi [ <63 50 + 4.1 50
;‘ 5/8H [ 212 0.8 13.0] 3 0.0 19| 3.7 26.2 0.2 1.6 3.7 2660 - @ | .2 22 * 2.9 22
wol & e - 8H6H i 36.8 0.4 29.6] 3 0.0/ 210 9.2 18.4] 0.7 Laf 8.3 W | G 26 + 2.8 26
% 1LA2H [ 14.2) 0.3 12.6] 3 0.0 12| 103 316 L7 2.3 722 W | s 11+ 1.0 41
s 2H11H 2 0.3 0.3 2.2 3 0.0/ 248 185 206 0.4 Lol so.of 2633 W | <7 23+ 2.7 23
7 5/8H [ 18.3 0.4 13.0] 3 0.0 9.5 10.0] 328 0.8 2.3 75.4] 2726 W@ | a9 28 * 2.9 28
" A P 8H6H i 36.0 0.3 288 3 0.0 1ol 119l 1.0 0.8 2.3 767 2.697) W@ | a4 30 + 3.0 30|
1LA2H [ 9.3 0.3 10.8] 3 0.0 186 120 267 0.2 2.0 79| 207 W@ | <9 21 + 2.8 27,
2A11H i -0.2 0.3 0.7 3 0.0/ 136 6.5  14.9] 3.6 2.6 7500 2722 W | o0 31 + 3.0 31
SHTH [ 17.3 0.5 13.4 3 0.0 177 1| 292 0.7 Lol 755 20657 W-EE | <55 25 * 2.8 25
12 G | Eos 8H4H i 32.8 0.4 29.9] 3 0.0 24.6] 2.5 265 0.1 a4l 7so1| z.ees| e | <34 19 = 2.2 19
" 1LA4H [ 7.0) 0.3 10.3 3 0.0 L7 L4 153 2.0 2.9 7Lo| 2648 W .7 39 + 3.6 39)
2f2H i 3. 6] 0.5 4.8 3 0.0 2.9 3.1 13.1 1.9) 3.7 724 2t01f @R | <4l 33 + 3.3 33
55168 S 19.4 0.4 13.3 3 0.0 26,6 316 226 L5 L1 786 2666 B | <53 22 * 3.2 22
. 8H6H i 28.9) 0.3 27.6] 3 0.0 251 4z22] 198 0.4 L3 osno|  2.eez| W | <44 16+ 2.2 16
13 AR R i< Bt -
R e 1LA4H [ 11§ 0.3 1.3 3 0.0/  30.3] 163 7.1 8.6 3.6 s0.8| 268 W@ | <2 19 + 2.4 19
2f2H i 4.9 0.3 5.0 3 0.0/ 240 30.1] 250 0.9 2.0 822 2.696] W@ | <58 25+ 2.7 25
55168 S 17. 6] 0.6| 12.9] 3 ) 0.0 0.0 0.0 0.1 2.3 6.9  70.1] 2725 W .6 15 * 2.5 15
" B i () 8H6H i 31.0 0.4 21.9] 3 HiFHE 0.0 321 17.9 5.8 1.6) 2.4 so.7|  2.779| W [ a7 9.6 + 18] 9.6
’ ’ 11J14H [ 12.2) 0.6 13.1 3 ) 0.0 39.9] 13.7 1.4 2.4 2.3 79.7 2| W@ | < 28 + 2.8 28]
2/2H i 6.2 0.4 4.6 3 ) 0.0 287 159 7.6 0.9 2.4 77.6]  2.807) W@ | 0 6.3 + 1.4] 6.3
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B ; __ EE .
e P iR | ek _ —fRIEE JSHER R EE [Ba/ke (#2E) ]
Yo, Kk Kotk - 0 (m) ViR BRIEE i wm |- _ _ BB (%) _ i i B B A YT A _ fii%
(C) (cm) A | sy | MRSy | MR | hRbar | MRy [Tov b Kitsr | (%) (g/cn®) Cs-134 Cs-137 A3t
5H10H [ 23.1 0.3 15. 7] 3 (CHVHEHE 0. 0] 0.7 5. 6] 23.4 65. 0 2.5 0.1 2. 8] 73.5 2. 670 w 3.5 20 = 2.7 20
15 s 2 8HTH il 32.2 0. 4f 24. 4] 3 [ ] 0. 0] 9.7 27.6 22.2 32.5 4. 9] 1.7 1.5 77. 4] 2.678| - B 4.7 17 = 2.5 17
11/8H £ 9. 0f 0.3 10. 7] 3 (CHVHEHE 0. 0] 10. 8 23.7 30. 8 30.0 2. 6] 0. 8] 1.3 74.5 2.673) - # <5.5 21 2. 6| 21
2H10H il 2.5 0.3 3. 8] 3] [ ] 0. 0] 6. 9] 28.5 38. 8] 21.7 1.7 0. 0] 2.5 78.2 2.680| - B <4.0 15 = 2. 4] 15
|| 5H10H [ 15. 9| 0.4 11. 6| 3 i) 0. 0] 18.0 21.0 31.0 25.3 1.7 0. 9] 2.0 74. 9] 2.746) W - # <4.6 49 = 3. 8] 49
16 prell i 8HTH il 27. 3] 0.5 18. 8] 3 L) 0. 0] 16.3 30. 2 . 9] 18.0 0.5 0.1 1. 0] 85.2 2.738| - B <4.0 19 = 2.5 19
11/8H £ 9.2 0.4 10. 2] 3 ) 0. 0] 19.2 22.5 . 3 21.9 0. 8] 0. 6] 1.7 81.1 2.782| W - # 4.1 32 + 3.1 32|
2H10H il -0. 4f 0.5 3. 0] 3] i) i3 0. 0] 14.2 38.1 41.8 0.2 0.5 0. 9] 80.3 2.765| - B <4.8 27 = 3.0 27
|| 5H10H B 19. 2] 0. 6§ 12.7] 3 (CHVHHE e 0. 0] 8.7 34.5 44.4 0.4 0.3 1.3 78.7 2.667) - # 3.5 4.9 £ 1.3 4. 9]
17 S 8HTH il 30. 2 0. 4f 22. 8] 3 WA U — 74 (63 0. 0] 10. 1 35. 8] 38.1 3.4 0.1 1.1 83. 6 2.671| - 5 <3.3 9.6 =+ 1. 8] 9. 6]
11/8H £ 9. 0f 0. 6§ 9. 8| 3 (CHVHHE e 0. 0] 5.1 25.7 66. 7 0. 0] 0.1 1.3 79. 6] 2.672) - # <4.2 7.3 + 1. 9| 7.3
[ eIl 2H10H il 0.7 0. 6| 3. 3] 3] i i3 0. 0] 1. 0] 20.5 71.3 0.2 0. 8] 1.5 78. 9] 2.674| W - B 4.2 6.6 =+ 1. 6. 6|
5H6H B 22.1 0.5 14. 9| 3 (CHVHHE 0. 0] 0. 0] 0. 0] 0.7 46. 9 6. 9] 7.4 69.2 2.733 w <6.0 52 = 4. 2 52
18 P 8H8H il 31.5 0.5 24.1 3 WK 3 0. 0] 4. 4] 2. 6] 3.7 27.3 0.1 2.7 73.1 2. 766 13 <4.6 7.9 = 1. 7.9
El 11H3H B 10. 7] 0.5 11. 4] 3 WA Y —7% e 0. 0] 0. 0] 0. 0] 0. 6] 18.4 0.1 2.9 72.2 2.715 w 4.9 6.8 + 1. 9| 6. 8]
mi JJ!_\ T 2H8H 2 0. 6| 0. 4f 3. 8] 3] KA Y —T 0. 0] 0. 0] 0. 0] 0.1 56. 2 3.8 4.7 72.3 2. 83 <5.2 21 = 2.7 21
n K 5H10H i 4 0.3 17.9] 3 B 0.0] 0.0] 2.6|  36.1 . 3.5 0.0] 2.9 7134 26 .5 25 * 3.0 25
19 EY TR L | i 8HTH il 5 OE 25.1 3 i) 0. 0] 0.1 7.7 467 2 4] 3.2 0.1 2.7 77’).] 2. b <4.3. 28 += 3.1 28
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